CHM151 Quiz3b 25 Pts Spring 2015 Name: )< e‘ﬂ/

Show all work to receive credit.

1. (4 Pts) If 245 grams of potassium nitrate were added to water to make 1,500 mL of solutlon What would the molanty
of the resulting solution be? /*:7«““ R
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2.(2 Pts) What volume of concentrated nitric acid (15.0 M) is required to make 2001l of a 4. O M mtrlc a01d solut10n‘7
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3.(3 Pts) Determirnie the B%idation number 6F each of the elements in Cs2Cr207?
Cs .  Or g+ 022
4. (12 Pts) Write the balanced molecular total ionic and net ionic equations for the following reactions. If no reaction is

expected, write “no reaction.”

a BaClz(aq) + L12C03(aq) N BaC03(s) +2LiCl(aq) : 4 e
i " , . ] 1;_. ’
Total ionic eq: Bla, +/3&” + 9&:{ -P C@g — Bﬁ CU U + i,

sy *\‘ ‘-’m

; a~ . ). e
Net ionic eq: Ko + COS T B@ CO3 (.t’\)
WiFeang,

i‘\ﬁt‘() n" ‘ 3 -
Totallomceq: H"..f, MUZ '-P/Nq/f + U -2 Hg@ j”) + /\/&u '*‘ /QO

o

HClOs3(aq) + NaOH(aq) — . H.0(l) + NaClOs(aq)

Net ionic eq: H * + Qﬁ“ - }Lf&& {'}‘)

HF(aq) + KOH(aq) — HO(l) + KF(aq)
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5.(4 Pts) Determine the molarity of a barium hydroxide solution if it required 53.85 mL of 0.1525 M hydrochloric acid to
neutralize 25.00 mL of the barium hydroxide solution in a titration.

Ba(OH)(aq) + 2HClaq) = 2H.O() + BaCl(aq)
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